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1. Current ‘density s : given in . cylindrical coordinates .as
J=10 rz EZ(A/m_z) in the region 0<r<20um, for » > 20 pm J=0

N S ‘
(a) Find the, total current crgﬁ_s_ﬁing_ﬂyef rface z = 1m (b) If the volume

charge (p,) .density at z =?.Fﬂ{‘is -1900 (C/m), find the charge 3
“ wd e . ’

e

- velocity there (as a function of r). ‘
| - (20%)

“.. 2. A certain’ potential ﬁ_eld is given in spherical coordinates by.
‘ R L P ,
V=2V, —sin(#).Find the total, ch%e contairied within the region
a . . ‘ o

R<a, R NN
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" 3. A electric dipole for which P = 100€%; C om is located at the

_ origin. What is the electric potential at A (2,2, 1) ?
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. 4. Find the permeability of —z~merfalin which the magﬁetic field -

 intensity is five times the nizgH® izzFi'o .
. S -1 P
| . (20%) .

5. Region 1 (x >0) is a matérial with g =2, while region 2 (x<0) -

has f»=1. Let the magnetic flux.density -for region 1 be
- e | |
- B=28,+44,454, ~ o
Find the magnetic field intensity i ggio 2.
(No current in the interface) {po-47# 10, H/m)
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